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Graph Using
Slope-Intercept Form

‘Goal - Graph linear equations using slope-intercept form.

VOCABULARY
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FINDING THE SLOPE AND Y-INTERCEPT OF A LINE

Words Symbols
A linear equation of y=mx+b
the formiﬁ = mx + h |
is written in
SLOCE INTER CEPT Foem slopPe Y tndescesd
where /") is the slope \' /
and b, is the y-intercept
of the equation's graph. y=2x+ 1
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Your Notes m Identify slope and y-intercept
Identify the slope and y-intercept of the line with the

given equation.

F—y—m—’_—] {i‘,+3 rlz.—zx+y=51

imPlicd 4

Solution

> a. The equation is in the form Sloge tniereeglso, the
slope of the line is | , and the y-intercept is % .

b. Rewrite the equation in slope-intercept form by solving
for Y. Tsoare Y

- +y=5 erte ongmal equation.
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The line has a slope of _2-_ and a y-intercept of > .
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o Checkpoint ldentify the slope and y-intercept of the
line with the given equation. =M x +b
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Graph an equation using slope-intercept form

Graph the equation 4x + y = 2.

Solution

V=M x +b—j

Step 1 Rewrite the equation in slope-intercept form.

y-intercept, (0,2 )-

Vwo+ih Sides

Step 2 Ibm’nﬁj the slope and the y-intercept.
-4/ _ Rise
= A TN Bz B

step 3 PLOJ the point that corresponds to the

Step 4 Use the slope to locate a second point on the line.
Draw ajJine through the two points. = Rise _

0 Checkpoint Complete the following exercise.

5. Graph the equation —%x +y=1

PoT 1N Y=mMxsb)
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Identify parallel lines
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Determine which of the lines are parallel.

Line At Paeosew (-3, -2) (4 3)
Line B theooen (-4 ;"93". (9\’,") )
Line &2 throoow (-3 5y ¢ ( b \)

7ty J

Solution
Find the slope of each line. Whed EQuation LAILL Yow. USE To FnD> SLoPE !
AN ~-3-3 - | o =
Linea: m= — = = = @ ,(>,< My =2
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Lineb: m = — S @)
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Line c: m =~ = & ey @
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Lines 3 and L have the same slope.
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o Checkpoint Complete the following exercise.

6.

Determine which lines are parallel. EXPLA;N |
_L_l_rle__a_ through (2, 5) and (-2, 2)
Line b: through (4‘. 1) and (—3, —4)
Line c: through (2, 3) and (—2, 0)
: . R S _3
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